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QUESTION 1

What do field sets correspond to? 

A. Variables in a rule configuration 

B. components in a Network Model 

C. attributes in a Query Viewer 

D. columns in an Active Channel Grid view 

Correct Answer: D 

 

QUESTION 2

How are ESM Global Variables created? 

A. from within the Manager\\'s server.properties file by using the System Global Variable link 

B. from the Fields and Global Variable tab in the Field SetResource or by promoting a Local Variable 

C. from the System Tools menu by using the Create System Global Variable option 

D. from the Local Variables tab of the Filter Resource and only by promoting a Local Variable 

Correct Answer: D 

 

QUESTION 3

What are the three major display components of an Active Channel in the Viewer Panel? 

A. Channels, Dashboards, and Reports 

B. Summary, Event Graph, and Grid 

C. Header, Radar, and Grid 

D. Events. Data Monitors, and Radar 

Correct Answer: C 

 

QUESTION 4

Which role does the Active Channel play in testing a rule? 

A. The rule can be replayed and verified against real-time events in the Active Channel. 

B. The rule can be replayed against historical events in the Active Channel. 
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C. The rule cannot be tested with the Active Channel because it will create additional invalid Correlation events. 

D. The rule can only be tested with an Active Channel by an administrator. 

Correct Answer: B 

 

QUESTION 5

Which statements are true about escalation levels? (Select two.) 

A. Custom escalation levels can be added at anytime. 

B. They must be defined separately for each notification type. 

C. New escalation levels are added to the beginning of an escalation level sequence. 

D. They are contained in notification group configurations. 

E. They must be created in the order in which you want escalation to proceed. 

Correct Answer: BE 
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